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Important Instructions for the
School Principal

(Not to be printed with the question paper)

This question paper is strictly meant for use in school based SA-II, March-2012
only. This question paper is not to be used for any other purpose except
mentioned above under any circumstances.

The intellectual material contained in the question paper is the exclusive property
of Central Board of Secondary Education and no one including the user school is
allowed to publish, print or convey (by any means) to any person not authorised
by the board in this regard.

The School Principal is responsible for the safe custody of the question paper or
any other material sent by the Central Board of Secondary Education in
connection with school based SA-II, March-2012, in any form including the print-
outs, compact-disc or any other electronic form.

Any violation of the terms and conditions mentioned above may result in the

action criminal or civil under the applicable laws/byelaws against the
offenders/ defaulters.

Note:

Please ensure that these instructions are not printed with the
question paper being administered to the examinees.
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SUMMATIVE ASSESSMENT -11, 2012 47031
Gehtera udrerr - 11, 2012

SCIENCE / fag=
Class - IX /o8&l - IX

Time allowed : 3 hours Maximum Marks : 90

fuifa wu : 3 gue Ifereraw 37k : 90

General Instructions :

(1) The question paper comprises of two Sections, A and B. You are to attempt both the
sections.

(if) All questions are compulsory.

(iii)  There is no overall choice. However, internal choice has been provided in all the five
questions of five marks category. Only one option in such questions is to be attempted.

(iv)  All questions of Section-A and all questions of Section-B are to be attempted separately.

(v) Question numbers 1 to 3 in Section-A are one mark questions. These are to be answered in
one word or in one sentence.

(vi)  Question numbers 4 to 7 in Section-A are two marks questions. These are to be answered in
about 30 words each.

(vii)  Question numbers 8 to 19 in Section-A are three marks questions. These are to be answered
in about 50 words each.

(viii) Question numbers 20 to 24 in Section-A are five marks questions. These are to be answered
in about 70 words each.

(ix)  Question numbers 25 to 42 in Section-B are multiple choice questions based on practical
skills. Each question is a one mark question. You are to select one most appropriate
response out of the four provided to you.

qrar= fdar

() T U U I S U, UT-37 T WI-a F Sl T | SR SHI IRk e o S faen
gl

(i) Ay e ¥ |

(i) T WA T W HE T WH T § g WH-E B F u" g # ofiadt w=e femm e #
T U H 319 3 It Tk il =199 i S fera & faw 5 weRd ¥

(iv)  STURI WMT-37 3R WFI-& & Gt T & IR JIR-Jok o 8 |

(v)  WT-37 % W H&A 1§ 3 % YT Ueh-Teh 346k h & | 37 SR Ueh ITeg AL Ueh a1 | & |

(vi) ~ WT-37 % YT H&A 4§ 76 Y -8 ekl & ¢ | 7ok S A 30 9T&at H o ¢ |

(vii) ~ WHT-37 % T¥7 H&AT 8 § 19 T T -1 3¥ehl o & | Tk SO A 50 9Tal H <7 2|

(viii) WRT-37 % F¥T T 20 T 24 F YT Urel-UTa ekl o & | TToh ST T 70 P1aat | < T |

(ix) WF-& % U GE 25 ¥ 42 F YT YARMHSE hivad R R sgfohedt ued €1 Jds ged
Teh 3k &1 T 1 U T =R faeredl # 9 Ukl hadl Ta Ted I9ga fahed 1 § |
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SECTION-A / WRT-37

Chemical formula of a metal sulphate is MSOs. What will be the formula of its
chloride ?

T T Hethe 1 THEMS G MSO4 8 | 3Hh FAREE 1 T -1 TR 7

Write difference between Bryophytes and Pteridophytes.

FTETRIES Uil g7 <REThEe Uil § 3faR Tose shifeiy |

Name the kingdom of classification to which the organisms with holes or pores all 1
over the body.

3 St foeh e’k # fog 2 € 9 afientor 3 fore S & o1 € 7 et A fafaw

Some fungal species live in permanent mutually dependent relationships with olive 2
green algae. Name the relationship. Mention where these forms are grown and
what are they called ?

FHAh! I FS TSAGAT B IaTel & T Tt SHadfsier s €1 39 STadse o7 F Fed
€2 3 gl U S € AT TR AT el 1 2

State any four ways by which an AIDS virus spreads from an infected person to a
healthy person.

FI3 IR FRSF fafge 5= gr1 AIDS ased, ufad =faq @ ey Afad 3 wHiaia g
g

A ball of mass 4 kg and density 4000 kg m™ is completely immersed in water of 2
density 10° kg m”. Find the buoyant force on the ball (Given g =10ms™).

4 kg FEAFM T1 4000 kg m™ ¥ &1 Tah 31§ il UM FSrHent 57 10° kg m™ 8, # qoi

Y | A ST T 1 TS W T ATl IecAe o A it | (Giveng=10ms‘2).

When a horse is pulling a cart, who is applying force ? What is the object on which 2
work is being done ?

STel <hIE SISl et Wi W&l 8, 1 hiv 9c1 1 WAN L @I 2 2 3H 9% &1 99 fafeg, f5m w
w1 B W T

5 g of calcium combine with 2 g of oxygen to form a compound. Find the molecular 3
formula of the compound. (Atomic mass of Ca=40 u; O=16 u)

5 UM Shicwrrd 2 UM SRS 9 fietent Te A1fiTeh S @ | 39 AR 1 Afvesh 33 91
HifTe (fean € : A 22 Ca= 40 u IO =16u) |

(@) Why was gold foil used by Rutherford in his a-particle scattering experiment? 3
(b) Draw the diagram of Rutherford’s a- particle scattering experiment.

Page 3 of 15



10.

11.

12.

13.

14.

(@) IHE A o FH TRIUE TEN H FH 01 T=H R TN H 2
(b)  TCIRIE % - YT YehIUH TN 61 ARG G |

Answer the following questions. 3

(@) What are the postulates of Bohr’s atomic model ?

(b) Who discovered neutron ?

() Name the Scientist who concluded that the size of nucleus is very small as
compared to the size of an atom ?

freferied el o s fafeT -

(@) IR ¥ WANUGEH Hied S STTIRVME 41 § ?

(b) I I G fREH <l ?

() g 3mfek 3 = frewd framren o Tifie o1 SARR AT & TR 1 qa T |
I SIS BRI 8 2

“Tapeworm is triploblastic”. What does it mean ? How is Hydra different from 3
tapeworm in this aspect ? Name the phylum to which Hydra and Tapeworm belong
to?

“uet TR BT R, W Sty § 2 30 Hedl o gt cued ¥ fohd wehR fa= § 2
Siqstl o = Tiged 1 T4 fafey 5 grer qon et Hafd €1

(@ Write two distinct features by which Vertebrates are differentiated from 3
Invertebrates.
(b)  What are protochordates ? Give two examples.

(a) VTR Sl ] STRVTR! Al T gUF B & o & fafay |
(b) TIERRIEE e FAT A S 7 &1 a0 fArEy |

(@) Which of these is an acute ailment and why ? Tuberculosis, Cancer, 3
Diarrhoea, Elephantiasis.

(b) State any two internal, non-infectious causes of a disease.

(c) Name the organ that is targeted by the virus that causes jaundice.

@) &3 U, HW, AfTIR T Tfertheriad W § § wFw I & (J=e) 82 a
i ?

(b) TRl T o U SARE THHMS FNH (ARG |
()  hfcren I 1 R aMeTd TR TR & o ST T ABRAV a1 § 7

A cube of side 5cm is immersed in water and then in saturated salt solution. In 3
which case will it experience greater buoyant force ? If each side of the cube is
reduced to 4 cm and then immersed in water, what will be the effect on the buoyant

force experienced by the cube ? Give reason for each case.

5 cm fodT 9t T A A TR S § IR R W 9w ki H garn s g1 fhd
TR0 H 3HH 31T ST o TR 7 AfG B Wi Yeidh ToHT Sl A ek 4 om R T
ST 3T R gar ST df ST Icltad oe T 91 G91E T2 Sl Yehaol o foTq o
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15.

16.

17.

18.

19.

20.

fafEm |

Define the term Power. A boy of mass 45 kg climbs up 20 steps in 20s, if each step is
25cm high, calculate the power of boy.

vifer b1 aRenfirg FISTT | T oTesht &t 2eamm 45 TR €, 20 dahe # 20 Hifeat
el § | B Hiel 25 Tt S B, oTSeh i Wfskd ol UM ShIfST |

A 5 kg ball is dropped from a height of 10m :

(@)  Find the initial potential energy of the ball.

(b)  Find the kinetic energy just before it reaches the ground.
(c)  Calculate the velocity before it reaches the ground.

T g FSTEe Z9mE 5 kg ® ,10 Hiex &t 9% § e St 7
(a) i = URfryek Reafast 31t it oM HIfST |

(b)  9fH R TR 9 Slen Tect TH i TS Foll A TS |
(©) g AR 9 STk Tgel SHeRI o7 1 il |

Explain the working of human ear.

HIS h T ok A B Skl YU sl SATAT IS |

‘Water is an important natural resource which is consumed on a very large scale by
all living organisms.” Explain with the help of diagram how a balance is maintained
in nature between its consumption and regeneration in nature.

‘I Ueh 9Igd HEcIYUl Wihfaek Trae € S foh @i, S gr sga stfusk A # sudn feen
ST €1 Tor o6t Hern ¥ gHensd 6 yehid sHh SUNNT 3IR 39 YH: S o o g
e JehR ST © 2

Mention two factors responsible for soil formation and explain how they help in soil
formation.

ge1 & fmior o6t wanfad e et <1 ek fafad @R gmemsd fe 3 gar fwfo & fea
YehR eI B & 2

When 3.0 g of carbon is burnt in 8.0 g of oxygen, 11.0 g of carbon dioxide is
produced. What mass of carbon dioxide will be formed when 3.0 g of carbon is burnt
in 50.0g of oxygen ? Which law of chemical combination will govern your answer ?
State the law.

ST 3.0 UTH 1A 8.0 UH SIS H SIS S €, @ 11.0 T Hled SEATFIES o € |

3.0 T HEH 1 50.0 T STRASH H STaH T fhd= TTH FHeH SRATIRE o 2
T GASH 1 s a1 fom s1m9eh 3R @t gfte e 2 frem 31 fafe

OR/372raT
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21.

22,

Define the following terms with example.

a)
b)

(
(
©)
(
(

(o

)
)

Atomicity

Anion

Molecular Mass
Relative Formula Mass
Cation

fr=fafea ugi i 3o afea uiafig wifsm)

Cockroach, spider and prawns are placed under Phylum Arthropoda. State the
reason for this. Write three other distinct features of this phylum. Give another
example for an aquatic arthropod and terrestrial arthropod.

Fihira (faeragr) AeRet qen S 1 hRem gl § T T ¥ | 39 foy R e
FIfTC | 3T HEAT & T iR fafere e fafen) e ngiure qen Teeia ngiae &1
Toh-Tah 31 ey fafeu |

AN N N N
S aoe

OR/37era
What is the basis of the major division of kingdom plantae ?
What was the modification introduced by Woese in Kingdom Monera ?

A Rt ST Aie! & SIohRoT Shi T&A SR 1 S ?
A @A H 1Y gR1 WETfad ST S off 7

Two masses in the ratio 1 : 4 have their speeds in the ratio 4 : 5. Find the ratio
of their kinetic energy.

Write the energy transformation in (i) Solar Cell (ii) Loud speaker.

The heart does 1.5 ] of work in every beat. How many times per minute does
it beat if its poweris 2 w ?

1 fave fS7eF Soa9M o STUI 1 ; 4 31X S9! =161 o1 STAG 4 : 5 &1 3! TTias

STl o1 ST 1 ShifeTy |
3 31 US| SeTt BT feAfEy
() ORI« (i) S TR

TS Ufq g § 1.5 1 a 7 | forat 9R ufd faee =g e, af gt wifam
2wg?

OR/372raT
A body is thrown at a certain angle to the ground moves in a curved path and
falls back to the ground. The initial and final points of the path of the object
lie on the same horizontal line. What is the work done by the force of gravity
on the object ?
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23.

(b)

You lift a heavily packed carton of mass m in vertically upward direction
through a height h. What is the work done (i) by you on the carton (ii) by
force of gravity on the carton ?

Anil is doing work at a rapid rate but works for only one hour. Ashok does
work at a somewhat slower rate but continues to work for six hours. Who has
greater power ? Who has more energy ?

e fiveg fdt FIvr @ sRame W HewT S @ @R T T garer g H Tfd R gU
Iz fyve aife erde WX o1 T § | U o yRftes o1 sifam fay 35t dfast q@ o
g | fave R cla st = 7 et foRan ?

MY Teh 9RT 1A TSt 50 m &, Saier IR it faen # h F1E 9 3o T |
&t gReford ST -

(i)  SAF R HET W

(i) T & gRI A W2

Afe A TG O e Lt © wAfeR 1 508 & foTu 6rel i € | TR STUeTehd efiey
T | T AT © AR TR 6 =0 Tk i hial & | fhas s1fues wife €2
fopail atfersh Soti © 2

What is the audible range of average human ear ? 5
Define the following
(@) frequency (b) amplitude

Name the device that is used to determine the depth of the sea.
What is the frequency of the sound waves used in this device ?

AT TT5A o I o fa Foran st REE 1 § 2

=1 =01 aRenfia swifST -

(@)  emfa (b) ™

T ! T AT & fore fra gfaa st swE fema s & 2
T8 gfod o Yga T Al e il i eTgia fafey |

OR/31¥aT
Why are the ceilings of concert halls curved?
Define reverberation? List any two ways in which reverberation can be
reduced in a big hall.
A ship sends out ultrasound that returns from the seabed and is detected
after 3.42s. If the speed of ultrasound through sea water is 1531 m/s, what is
the distance of the seabed from the ship ?

HUE Bt I B THIHR T Bl & 2

M T8 F8d €2 el o2 g H SFRUH 1 HH & fow I < Sum
fafa |

e SRS qEaft Icfsid it § S g 9 | WEfdd 2l 3.42s % I agfed
&I STt ¥ 1 Afg Thg St § WAt s 9 1531 m/s @, @ g I 9§ STeS b

ot =1 B 2

Page 7 of 15



(a) How does movement of air or wind currents differ during day and night near 5
coastal areas ? Explain giving suitable reason.

(b) List the factors that are responsible for influencing the wind directions.
) It & H arg T ured ot foen # fe7 ok ua ¥ foRw weRR 1 o A €2
a1 Hisd THAET |
(b) 7 hRI K Gl SEY S AR w9 A wefed A €
OR/37eraT
(@) Mention the two types of components of biosphere and give one example of 5

each.
b) Explain the role of atmosphere in keeping climate control.
C) Moon has no atmosphere. How does it affect temperature on its surface ?

(
(
(@)  SaHed & AFEl & YR fAfed IR Y& 1 T 3R S|
(
(

b)  Soar wl FafEa e | agHed & e 82
o ‘HEE W HE dFHed T ¥ 1’ 39 U 9 U Gag 1 aHM 5 YRR gt

BT & ?
SECTION - B / HT-&
A change in physical state of a substance can be brought about : 1
(a) only when energy is given to the substance.
(b) only when energy is taken out from the substance.
() When energy is either given to or taken out from the substance.

(d) Without any energy change.
ferelt waTel 1 “fifeh sTareen H REd TR S Wehdl © BN :-

OEEEESEERERHPEISS RIS G

(b)  haet T 5o vered § § ol ki TR T SR T

() T S 91 1 Ut 1 ol Y ht S & A1 STH H Sh! TRTE Bt T
(

d)  fer fordt St uftada & |

16.8 g of sodium hydrogen carbonate is added to 12.0 g of acetic acid. The residue 1
left weighed 20.0 g. The mass of CO, escaped in the reaction is
(@) 200¢g (b) 88¢g (c) 168 g (d) 368 ¢

12 7 tfafes o1t H 16.8 U Wifeam TESSH HEHS Sl Sl 81 o U T8 i
W 20.0 TM 2| 39 fufshan § s@fsia CO, 1 F=mM & :-

(@) 200T™ (b) 887M (€ 1687 (d) 3687

Four organisms A,B,C and D are given below. On the basis of common features 1
which two organisms would you place in the same phylum ?
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28.

29.

(@) A and B (b) Band C (o) Cand D (d) Dand A
= =R Sl A, B, C A9 D 1 SRIT1 T1 7 | WA @aqull o TR W S 3 9 R

T STl Teh & hEad J W ?

@ AdB () BIC () CHdD d DIA

Out of the groups of plants given below Seeds are seen only in one of the plant 1
groups which is :-

(@) Thallophyta (b) Bryophyta

() Pteridophyta (d) Angiosperm

Rfrmdd Faf AT FTa FE I H @ N TR - o~

()  deIrEe (b) I

(0 fEmwR d) e

Study the diagram of an earthworm given below. The most characteristic feature of 1

this animal on the basis of which it has been placed in its phylum is
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Prostomium -
Peristornium

(@) anus (b) Clitellium (o) annuli (d) peritonium
QU T Qo T o1 1%8aa i1 $9 Siwg 1 Fod A daT07 fSeeh SR g
TR TR H @ T T R ©

TG

RlisAs

AT
Fergee {

(@) T (b) FEEE () T (d) uRgUe

30. The characteristic feature which is not correct regarding dicot plant is :- 1
(@) has two cotyledons
(b) has fibrous root system
() its leaves have reticulate venation
(d) seed develops inside a fruit
o8 T&Tol S gl ot o forg wel T e e ® :-

(a) SHH AT IHAI LI
(b)  =EH WER 9IS e T
() 9! afaEl H Siferskeq o fomama g 2
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31.

32.

33.

(d) oS % % sie fomfad 2 |

The feature not found in monocot plant is :-

(@) Fibrous root

(b) Parallel venation

() Presence of two cotyledons in the seed

(d) Trimerous flowers

8 &0 i1 U SSTo=it el H el I i qe E

@) WRRSE (b)  wEiR R fa=ma
() st ¥ < st (d) [ECRINCTY

A student is observing the developmental stages in the life cycle of a mosquito. He
observes that the stages in which the organism is very active and requires a lot of
food is

(@) egg (b) larva (c) pupa (d) adult

e forenefl Fost % Sfad = I fawmt stereenst # Jero 9 W © 1 9% Uik Fa i
a7 svereen fres =g Sfta st wirst 2im € o 3 ofIs i sTeeeRd off sifuss Bt €

EITE?% -
(a) Sl (b) ferwesm (c) (d) =I=h

Four students adopted the following methods to measure the volume of solid. By
immersing it in a measuring cylinder filled with water. The correct method is of the
student,

(A)

B

* R o
@ A (b) B © C (d D
IR faenfe=i = F= T T fafEi o ST ER Ave fafdet #§ R Sia # 3 @1 gae

ST 3T 9 a1 forg foanefi sl fafu gt 2o &

T
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34.

35.

A piece of metal of mass 110g is dipped in a measuring cylinder containing water at
24 mL mark. The water rises to 38 mL of mark. Volume and density of metal are
respectively :-

(@) 14 mL, 7.85 g /cm’ (b) 14 mL, 7g / cm®

(c)  38mL,6g/cm’ (d) 24mL,12kg/ m’

110g SHM % ©1g o Zohe ol SId T H19e fafeey, 5o 24 mL % UIe@is d& oid &, §
AT S § @ STl 38 mL % WIgdih G 33 ST &1 3H U] % Zhe T AT IR S
T

(@) 14mL,7.85g /cm3 (b)  14mL,7g/cm3

() 38 mL, 6g / cm3 (d) 24mL,1.2kg / m3

The spring balance shown here is used to measure the mass of a given solid. The
mass of the solid is :

(@) 115¢g (b) 118 g (o) 120 g (d) 125¢g
o o <ot SFAMIGR qaT 1 ST Ush 319 1 S99 AIOA % fau fan w3 &
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36.

37.

(@ 115g (by 118¢g (0 120g (d 125g

A metal ball is hanged from the hook of a spring balance. The ball is first kept in air,
then fully immersed in tap water and then immersed in salty water. The readings of
the spring balance will be :

(@) Maximum in air and minimum in tap water
(b) Maximum in air and minimum in salty water
() Minimum in air and maximum in tap water
(d) Minimum in air and maximum in salty water

Teh H1q i S ! HAMGR Gl o §h U AHMA T T8el did Hl gal H @I, THeh
TG A & U H G e garn iR R deoita Ste § gamen | FHMICR el 1 a8
B

(a) 1 H AR qe1 T & qHI H A |

(b) T H STfereRan qU AT el H <A |

(c) B H =AqH q91 I o I H feehaH |

(d)  BA1H AdH 9L AU STl H SAHehad |

A student is doing an experiment to find the pressure exerted by an iron cuboid of
dimension 3cm X 6cm X 15c¢cm on loose sand. He will observe that the cube exerts
maximum pressure when it is placed on the sand with its side of dimension.

(@) 3cm X 6cm (b) 6 cm X 15cm

() 3cm X 15cm (d) 15cm X 6 cm

I B 3cm X 6cm X 15cm fauiedi & AR & =19 gRI Rfeel 3 W et T T R

T HT TN F @8 | Y& HA W IR T8 I T X R 39 T SAfeehad S
ST § 59 3Hen! fmfafed fommd Y@ w vt e €

(@) 3cm X 6cm (b) 6 cm X 15cm

() 3cm X 15cm (d 15cm X 6cm
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38.

39.

40.

41.

A metallic cuboid of mass 9 kg and dimension 5 cm X 8 cm X 25 cm is placed on a

table to exert pressure on its surface. If g=10 m/s”, the maximum pressure which

can be achieved by the cuboid is

(a) 45000 Pa (b) 22500 Pa

(c) 4500 Pa (d) 2250 Pa

fereft enfeeres =T 1 TRt 259 9 kg T foMME 5 cm x 8 em X 25 cm § TF B &
g pL

W TE T T W@ T 8| AR g =10 m/s” & 1 39 BA gN feha 1 A /=0

ST S Hhell © 2

(a) 45000 Pa (b) 22500 Pa

() 4500 Pa (d) 2250 Pa

To verify the Laws of reflection of sound, the most suitable reflecting surface would
be :-

(@) arough cardboard sheet (b) acushioned sheet

(c) apolished, plane metalsheet (d) aspongy sheet.

S o TE oh TIHI Sl TATIA L o Tl werd 21fere 39 wades 7% 8 :
(a) T GEH T i =T (b) T TEER =AML

(c) T UIfeT?T <hl g8 HHAA 9Tg hl =TeL (d) Tk EEST =L

Two students while performing experiment on verification of the laws of reflection of
sound, are provided with the following choices :-

(i)  using narrow tubes or wide tubes

(ii) using a faint source or a strong source of sound.

The best results would be obtained by the student using the combination of :

(@) narrow tubes and a faint source of sound

(b) narrow tubes and a strong source of sound

(c) wide tubes and a faint source of sound

(d) wide tubes and a strong source of sound.

3 & Te o Tl 1 geafud S o TN o faw S faenfEt o f = Saae
ST 1T

(i) T URY AL |l Y 1 STAR

(ii) =A% €Y Sid S Gele Sid 1 ITAN

o foenedt & dasH & WM & gataw qiomg g g 98 ST €

(a) U YIS a1 T 1 EH S (b) U UIEY a1 & 1 Yo Siid

() IS Uy qe e 1 efiw i (d) =S Y qe A w1 g i

What is the velocity of the pulse for the slinky indicated in the figure below :

/77‘ : A S B
@’"?f T IO ' R A
o 10m E

Given that the pulse took 5 seconds to travel from A to B and then back to A.
(@) 5m/s (b) 4m/s (c) 10m/s (d) 2m/s
= fow e fomt o ficfent # o= T8 i =1 9 B, AfG Te 7 A 9 B A« afH BE A
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42,

TH 3T U 55 1 guy foran

(@ 5m/s (b) 4m/s () 10m/s (d) 2m/s

Kiran was calculating the velocity of wave using a slinky. She will get the best
results only when the slinky chosen by her is :

(@) Long, soft and flexible (b) Short, soft and flexible

() Short, hard and flexible (d) Long, soft but not flexible

fortor =1 fident | T ot =Tl A1 T 1 FATT BT 11 SHR! Gairan gRom = § 9
i feetat T T fierm ?

(a) I, HeIEH 991 T=le (b) I, HelFH gl el

() BRI, T, 1 T (d) <, HAEH q1 S=en T8l
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